switching tasks.
What is a Semafor, why do we need to use it as a programmer? Explain in 2-3 sentences.
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47 O 1. We introduced a new representation of bit patterns similar to HexaDecimal, namely e D
u ExamDecimal Representation, using bit groups of § instead of 4. You can use the letters 00000
- for the symbols in this new representation. 1
N\ \
1O) . '
After giving your bigattém symbol assignment table, answer the following: :
FaRS 19 9 g _9
a. Using ExamDecimal, what is the bit pattern 110111001 1010010011127 A
@ 12— D =)
VPR rF
b. Which bit pattern is_5LABE,i1LExamDeﬂ'maH .
/\ /7 4\3\7\:"]/'—)—/7”/1\/ ) A
‘ o= ol e '/O .O./f\_ Y AN 44 nA444 F)
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c. What is the Parity Bitin (a) and (b)?_— ™\ .
— / iz 1s, /‘m*’j—g:(/‘
Q_(/C’/: S5x 7L A2 ’Tsldr\;‘n;“?f"}:i-
2. What integer does ExamDecimal “BH” denote in 2’s complement notation? Show the
required steps. , ¢ *6 S 4372 j o - M, N
— 4112721722 2
Ge SRR geel e
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g)/’rsi:)n\»c 4x2 ‘f'/{kz'f{XZ'* ¥
956+ b4+ 32+ 16+ 4
3. Show the steps of Euclidean Algorithm to find ged(A,32).
A is the last two digits of your studzr)t number +7.
36 )
@j\ (/)) C+7= 413
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P 4. Inthe Kernel of an Operating System, LSCHEPMLEIL is responsible from
( l 0 adding new processes and deleting terminated processes from the process table, whereas
DS 2T AT .. ... controls the time sharing among processes and process
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